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2SB01 Linux Router (d.59%)

' &
antayasatii

# [touche:~] $route -n
Kernel IP routing table

Destination Gateway Genmask Flags Metric Ref Use Iface
61.7.157.96 172.30.0.1 255.255.255.248 UG 0 0 0 etho
202.28.99.192 0.0.0.0 255.255.255.192 U 0 0 0 ethl
192.100.77.0 172.30.0.1 255.255.255.0 UG 0 0 0 etho
172.30.0.0 0.0.0.0 255.255.252.0 U 0 0 0 ethO
169.254.0.0 0.0.0.0 255.255.0.0 U 1000 0 0 ethl
192.168.0.0 172.30.0.1 255.255.0.0 uG 0 0 0 ethO
172.16.0.0 172.30.0.1 255.240.0.0 UG 0 0 0 ethO
0.0.0.0 202.28.99.193 0.0.0.0 UG 0 0 0 ethl

asuaneA&anldlunis Config wAzea PC Linux Router (aludaunaa IP Address iU Network Interface wax Routing
J v ar - v 4‘ 2, © v
Table) i Wilduadnwideshi dinldA & route -n

(10 AZLLUU)



2SB02 Linux Firewall (8.519¢)

1. A3 iptables -F #lAeesls (2 AZUUL)
2. default chain W filtering table ﬁﬁﬂgjlﬁul‘u iptables Hazlstig (2 AZULU)

3. auassAdanlflunnstlaaiunisde icmp echo request WnandarTeafifiuunena 172.30.127.1 3ai

WHNELAT IP Address 18LATELEN (2 ATLLL)

4. ANWANENTEWIN -j DROP sy -j REJECT 1 iptables@ (2 AZUUW)
5. Ada  sudo /sbinfiptables -A FORWARD............... fudnda

sudo /sbin/iptables -l FORWARD ............... Wnahunnsneiuatnals (2 ATIL)

Lab 2SB03 and Lab 2SB04 (Aj. Andrew Davison)
241-203 Software Lab II, Midterm Exam, Semester 2, 2009-2010
¢ Answer the questions in English.

e Write down all your answers in the answer book.

LAB 2SB03 Functional Programming with Scheme
Question 1 (7 marks; 7 minutes)

Write a Scheme function called sumElems which returns the sum of all the elements
in the input list. Usage examples:



Lab 2SB03 and Lab 2SB04 (Aj. Andrew Davison)
241-203 Software Lab II, Midterm Exam, Semester 2, 2009-2010
e Answer the questions in English.

e Write down all your answers in the answer book.

LAB 2SB03 Functional Programming with Scheme
Question 1 (7 marks; 7 minutes)

Write a Scheme function called sumElems which returns the sum of all the elements
in the input list. Usage examples:

(sumElems '(1 2 3 4)) --> 10

(sumElems ' ()) --> 0
Do not use higher order functions in your answer.
Question 2 (3 marks; 3 minutes)
a) What is a higher order function? Explain in words

b) Recode sumElems from Q.1 using a higher order function.

LAB 2SB04 Introduction to Prolog
Questions (10 marks)
1. Using the Prolog predicate:

pingoo(El, [El|List]), List).
pingoo(El, [X]|List], [X|Listl]) :-
not (E1 = X),
pingoo(El, List, Listl).

Execute the query:
?- pingoo(a, [c,a,t], L).

Show all the stages in the evaluation of the query. (5 marks; 5 minutes)

2. Use the pingoo/3 predicate of question (1) to write a predicate sameLets/2.
sameLets/2 succeeds if its two list arguments use the same letters (but possibly in a
different order), and the same number of letters. (5 marks; 5 minutes)

Examples:
?- samelLets([n,o,t], [t,o,nl).
yes

?- samelets([r,o,d], [r,o,a,dl).
no

?- samelLets([r,o0,d], [r,o0,0,d]).
no




